
 

A. Choose the correct Answer; 

1. Which sentence contains a finite 
verb? 

(a) To run is good for health. 

(b) He sings beautifully. 

(c) Singing is fun. 

(d) To dance is enjoyable. 

2. Identify the non-finite verb in the 
sentence: “He wants to travel the 
world.” 

(a) wants (b) to travel 

(c) he  (d) world 

 

3. Which of these is a gerund? 

(a) Played (b) Writing 

(c) Sleeps (d) To swim 

4. What is the function of the 
present participle in the sentence 
"We saw him crying"? 

(a) Verb (b) Subject 

(c) Adjective (d) Object 

5. Which of the following is a bare 
infinitive? 

(a) to go (b) went 

(c) go  (d) going

B. Match the Following; 

Match the sentence to the type of verb used.  

Sentence Type of Verb 

1. She enjoys dancing. a) Gerund 

2. I saw the boy fall. b) Bare Infinitive 

3. We watched them playing. c) Present Participle 

4. To err is human. d) Infinitive 

5. Having finished the work, she slept. e) Perfect Participle 

C. Fill in the Blanks; 

1. We saw the baby ___ in the cradle. (cry) 

2. He prefers ___ coffee. (drink) 

3. They let me ___ the room. (enter) 

4. ___ a book every day improves knowledge. (read) 

Finite and Non-finite Verbs 



 

5. The broken glass lay on the floor. The word "broken" is a ___ participle. 

D. Subjective Questions; 

1. Identify the finite and non-finite verbs: “She wants to learn swimming.” 

2. Define a gerund and give two examples.  

A gerund is a verb + ing form used as a noun. 

3. Join the following sentences using a participle: “He completed his homework. He 

went to play.” 

4. Rewrite using “too…to” pattern: “The mountain is very high. We can’t climb it.” 

5. Explain the difference between a gerund and a present participle with examples. 


